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—: I

#pragma GCC optimize(3,"ofast","inTine")
#include <bits/stdc++.h>

#define ios_close std::ios::sync_with_stdio(false), std::cin.tie(nullptr),
std::cout.tie(nullptr)

using 11 = Tong Tong;

using ull = unsigned long long;
using 1128 = __intl28;

#define Pi acos(-1.0);

#define PINF Ox3f3f3f3f
#define NINF -Ox3f3f3f3f

int n, m;

std::vector<int> fa(100010);
std: :vector<int> edges[100010];
std::vector<int> root(100010);

void init({
for(int i = 1; i <=n; i ++ ){
fali] = 1;
root[i] = i;

int find(int x){
return (fa[x] == x) ? x : fa[x] = find(fa[x]);

void merge(int x, int y){
int fx = find(x);
int fy = find(y);
if(fx 1= fy){
fa[fx] = fy;
root[fx] = root[fy];

void change(int x){
root[find(x)] = x;

int get(int x){
return (root[x] == x) ? x : root[find(x)];

void solve(){
std::cin >> n >> m;
initQ;
whiTle(m -- ){
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int a, b, c;
std::cin >> a >> b;

if(a == 1){
std::cin >> c;
merge(b, c);
} else if(a == 2){
change(b);
} else {
std::cout << get(b) << '\n';
}
}
}
int main(){
#if 0
jos_close;
#endif
#if 0
freopen(".in", "r", stdin);
freopen(".out", "w", stdout);
#endif
int T = 1;
#if 0
std::cin >> T;
#endif
while(T -- ){
solve();
}
return 0;
}

#include <bits/stdc++.h>

void solve(){
int a[3010]
int n, k;
std::cin >> n >>k;
forCint i = 1; i <= n; i ++ ){
std::cin >> a[i];

{0};

}
int dp_up[3010] = {0};
int dp_down[3010] = {0};
for(Cint i = 1; i <= k; i ++ ){

dp_up[i] = 1;

for(int j =1; j <i; 3 ++ ){

ifcali] > a[jI{
dp_up[i] = std::max(dp_up[i], dp_up[j] + 1);

for(int i =n; i >=k; i -- ){
dp_down[i] = 1;
for(int j =n; j >=1; j -- ){
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if(ali]l > al[ijD{
dp_down[i] = std::max(dp_down[i], dp_down[j] + 1);

3
std::cout << dp_down[k] + dp_up[k] - 1;

int main(Q{
int T = 1;
while( T -- ){
solve();
}

return O;

=: H=FE

#include<bits/stdc++.h>
using namespace std;

int main(Q{

string s;

cin >> s;

map<char, int> mp;

for(int i = 0; i < s.size(Q); i ++ ){
mpls[il] ++;

}

if(mp.size() == 1){
cout << 1;

} else if(mp.size() == 2){
cout << 3;

} else {
cout << 6;

}

return O;

. Ex=ELLHl

#pragma GCC optimize(3,"ofast","inline™)
#include <bits/stdc++.h>

#define ios_close std::ios::sync_with_stdio(false), std::cin.tie(nullptr),
std::cout.tie(nullptr)

using 11 = long long;

using ull = unsigned long long;
using 1128 = __intl128;

#define Pi acos(-1.0);

#define PINF 0x3f3f3f3f
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#define NINF -0x3f3f3f3f

void solve(){
std::string s;
std::cin >> s;
int pos = s.find("*");
int n = atoi(s.substr(0, pos).c_str());
int m = atoi(s.substr(pos + 1).c_str());
int t = std::__gcd(n, m);
printf("%d:%d", n / t, m / t);

int main({
#if 0

jos_close;
#endif

#if 0
freopen(".in", "r", stdin);
freopen(".out", "w", stdout);
#endif
int T = 1;
#if 0
std::cin >> T;
#endif
while(T -- ){
solve();

3

return 0;
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